OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O} (Dl

" CELFD
- RQNXUHQFID &KiRSFyZ P NIDV\F]Q\ 0D
= \QINL )LQD#
7RS 7LPHV 3RIDQG 2SHQ -2/1,$. 6iIDZRPW $-*"$% O5RPH 7%
7RS 7LPHV 3RIDQG +2a8% ODFLHI 2535= " HELFD
3XQNN ),1$
3R]\FID 5RN XU &]DbV 3NIl
)LQDi $
72.$56., .U]\V]IRI 65 0.6 606 9,&725,$ 5DFLEYU]
.$5.87 .DPU ,-$5 OLHHF
672/$56 ., ODIF.Q T2/,%25= = DIV]DZD
+8/%1T - ODUFLQ 0.3 6]F]HFQ
&+52§&,66 ., -DQ = $57% 3R]QDE
6=<0%$12:6., -DNXE 62 81,% 2GZICFLP
52-"$ $GDP -2"1,. 5DZIF]
$0%52=,$. .DPU "=,(z,A7-$ .DLV]
)LQDE %
&=(51,(&)HUS 6.$53% /XELQ
0,.2§ "DZIG -25"$1 .UDNyZ
.2=%$.,(z,&=-DQ ,-6 _RQVIDQFLQ
.,(5&= ODIHXV] 62 81,$ 2GZICFLP
)5(0(/ "DZG = 2"1,. 6lHPIDQRZIFH §lgVNIH
%,$a2T<a $GDP "= (z,A7.$ .DLV]
&+0,(/ -DFSH O .3 6]F]HFLQHN
5<.$&=(z6., 6]\PRQ =1,&= -RV]DIQ
6SIDVK OHHI ODQDJHU %XUG SHJIVIHUHG IR 3RIVK 6ZLPPLQJ )HGHUDILRQ 6IIURQD



